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(AL - TR

L4 @i [11/1)11/2)11/3)11/4) 11/5/11/6| 11/7|11/8| 11/9 | 11/10 5t T Pt s
HEPE S -2,320

BF)I |« 179 8 5 1 1 15 194

f&uf | FHE DS 2,500 2,500 2,500 @

FRIRE 176 2 2 4 180 180 7

EBF)| | e bk

10/31 Y2 | FHEBR%
2 JLES
HEPE S -1,113

& JNE=S

10/31 32 | FHE LK 738 3| 3 38 38 38 38 38 38 38 38 375 1,113 1,113
2 JLES

FEI

10/31 32 | & b5k
HEPE S 34 4 2 27 4 10 9 5 61 95| -10,007 4)

TRF | ek 1,232 85 126 71 282 1,514 (69)

11/8 2 |stEmngg 9,120] 225| 225| 225 225| 225 225 225 225 225 225 2,250 11,370 11,370 (14)
FRIRE 1,037 101 126 11 88 326 1,363 1,363 12
HEPE S -1,152

)| |2 B 91 4 1 3 2 10 101

11/9 32 |&tEmR%k 700 50 50 50 50 50 50 50 50 50 50 500 1,200 1,200 4)
FRIRE 43 2 3 5 48 48 4
HEPE S 4 1 5 5 -1,112

AP )| | & ki 9 1 3 4 13 5)

11/6 32 |&HEBI% 799 32 32 32 32 32 32 32 32 32 32 315 1,114 1,114 (1)
BRI 2 2 2
(ER2)
HEPE S 104

INAS)N] |2 ks 267 52| 79 73| 66 47 317 584

11/8 Y2 |&HELR% 350 5 5 5 5 5 5 5 5 5 5 50 400 400/ (126)
FRIRE 223 86 136 59 281 504 504 126
HEPE S -24

B (=g 122 26 34 20 23 103 225

11/9 32 |&tEmR% 21 21 21 21 21 21 21 21 21 21 210 210 210 (89)
FRIREK 97 22 25 22 20 89 186 186 89
HEPE S -1,022

H#E)I| =Lk 273 49 73 40 29 191 464

11/9 2 |&HELR% 1,003 42 42 42 42 42 42 42 42 42 42 420 1,423 1,423 (28)
FRIRE 231 58 60 32 20 170 401 401 28
WHEPE S 71 (13)

AT EN 266 99| 31 60 40 40 270 536

11/10 32 | sEbRE 194 12 12 12 12 12 12 12 12 12 12 120 314 314| (133)
FRIRE 146 28| 211 239 385 385 123
HEPE S -601

B |t g 121 53 36 89 210

11/10 32 | sHEsRE 750 25 25 25 25 25 25 25 25 25 25 250 1,000 1,000 (40)
FRIRE 65 28 23 25 76 141 258 399 40
HEPE S =732

EG RS =S 35 2 2 11 2 5 5 27 62

11/10 32 | sHEsRE 250 53 53 53 53 53 53 53 53 53 53 530 780 780 (6)
FRIRE 29 3 16 19 48 48 6
HEPE S -267 )]

ey IR 11 3 3 2 3 3 14 25

11/10 Y2 | FHEBR%k 168 " 1 1 1 1 11 1 11 1 11 114 282 282 (6)
FRIRE 3 12 12 15 15 5
WHEPE S -100

KAE)I| | = sk

10/31 Y2 | FHESR% 10 10 10 10 10 10 10 10 10 10 100 100 100
2 JLES
HEPE S

INGE)N| | = kg

10/31 Y2 | FHESR%
£ JES




_2_

(AL - TR

b4 @ |11/1]11/2 1173 1174 11/5) 1176 11/7]11/8] 11/9]11/10 3 T P i s
WHEPE S -87
REE [c 28 17 18 18 35
11/7 32 | stEmk 11 " 11 il 11 11 11 11 11 11 110 110 110  (21)
FRIRE 11 12 12 23 23 21
HEPE S -100
HF)I| | =k
10/31 Y2 | st E s 1of 1ol 10/ 10| 1of 10| 10| 10| 10 10 100 100 100
BRINE
HEPE S -461
B |2 s 12] 14 24 16 54 66
11/8 32 |FHEBR%k 50 50 50 50 50 50 50 50 50 50 500 500 500 (8)
FRIREK 3 3 10 9 22 25 14 39 8
-100
RBHF)I| |2 Lo 3 6 12 21 39 42
11/8 32 |t Esns 1of 1ol 10/ 10| 1of 10| 10| 10| 10 10 100 100 100
2 JES 5 9 14 14 -14
WHEPE S -1,629
Hik)l| | =k 16 22 22 38
11/7 Y2 |&HELR% 1,020 62 62 62 62 62 62 62 62 62 62 620 1,640 1,640 (1)
FRIRE 8 3 3 11 11 1
TR | & ks
10/31 Y2 | st E sk
2 JES
FEH)I| |+ 8 7 18 25 50 58
11/8 32 |t Esns
2 JES
HEPE S -2,411
B I [zEs& 41 75 116 116
11/7 Y2 | sHEBRE 1,500 100 100 100 100 100 100 100 100 100 100 1,000 2,500 2,500 (4)
FRIRE 40 49 89 89 89 4
HEPE S -1,672
RN E= 253] 235 407 288 930 1,183
11/7 2 | stEsnk 800 200 200 200 200 200 200 200 200 200 200 2,000 2,800 2,800 (40)
RN 221] 201 399 307 907 1,128 1,128 40
HEPE S 34 4 2 27 4 14 9 6 66 100] 24,735 (18)
5 |[erEg 2,915| 411 258 79 898| 74| b12| 227| 92 2,551 5,466 (74)
11/10 32 | stEmn g 19,892 966| 966| 966( 966| 966 966| 966/ 966/ 966 966 9,664 29,556 29,556 17)
FRIRE 2,295| 244| 271 653 136| 439| 190 71| 264 2,268 4563] =+258 4,821 16




